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1. TS SIH R FeAaiT  alvng $us’ WA Al W wd 2

(1) & g (2) A S ST

(3) = A () HiET A

Name the President of the National Congress who was known as “Englishman from top
to toe”.

(1) George Yule (2}  Wyomesh Chandra Bannerjee

(3)  Dadabhai Naoroji (4}  Surendranath Bannerjee

2. ThgEN 1942 98 ot fadi Fear 9id STl ST SE Ry qHaTeA 6 ATk el SerH
= ol a2
(1) sl & g (2) A amE
(3) TTF TE (4) TR A FMA
Name the Chinese Leader who publicly expressed sympathy for India’s aspirations for
freedom during his visit to India in February 1942 ?
(1) Mao Tse Tung (Mao Zedong) (2)  Chou En Lai
(3)  Chiang Kai Shek (4)  Yuan Shi Kai

3.  YEio faumia Some 9vH S 38 ?

(a) T TR A Fod FRAER! F.

(b) © o™ AAGIS SWERS E WS 9.

(c) ot fadrenin = veet arehig Tt -
YT R ST el TEE] T STHEAER SeuATdl YA hotd T SR T B
T Wi SIvaErd Hi,

it 3

(1) et (2) AT IS

(3) FA. de (4) ~IEHAD HETERL

Who is described in the following statements ?

(a)  He was a government employee in the Judicial Service.

(b)  He was very vocal against the faults of the British regime.

(c)  He warned the British in these words -
“If you try to impose any legislation on us, against our wishes, we will unite and ask
you to quit”.

Answer options :

(1} Lokahitwadi (2) M.G. Ranade

(3) KT Telang (4)  Justice Chandavarkar
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(a) S =S AT (b) ar= fyw geu amifmeem
(c) e sfem ge gFTa () Hve wfeda om
TGt 39y ;

M ®) @@ @ ® a0 @ O @@ @ ®) 0 e
Arrange the following organizations in the chronological order of their establishment.
(a) Bombay Postal Union (b) Bombay Mill Hands Association

(c) All India Trade Union {d) Social Service League

Answer options :

(1) (b} (a) (d). () () (b} (d) () &) (3) (b)(c} @ (d) (4 (b) () (d) @)

YIeAT RIS S HEE FRUIYA B
(a) I=9 GEATIAA TR FAHSS TP
(b) ST d9h=l A9

(c) WadHH® HINg

(d) ranfear fagmd

Qi I

(1) (a) (b) BK (2)  (a), (b), (c)
(3) () (), (d) wF 4 @) (b) () (d)

were the factors responsible for the failure of Prarthana Samaj.
(a) Leadership at the hands of higher middle class
(b Lack of contact with the common people
(c) Difference of opinion among promoters
(d) Contradiction in the thoughts and deeds
Answer options :
(1) (), (b) only () (a), (1), () only
(3) (b}, (c). (d) only 4) (@, (b} (o) (d)
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6. TEISUS! I U =, A azfe At fofee ameq 2 .
(a) w1 A9 (b) ¥ 3fed 9l 379 wieH

(¢ 3 fetrm i feggem (1) To=ie we figsies foae
gafe 3

(1) (a) o (2)  (a) =W (b) W

(3) @) (b) A0 (c) T (4 @, () () (@)

Which of the following books are written by Dr. Annie Besant ?

(a) India a Nation (b) How India Brought us Freedom
(¢) In defence of Hinduism (d) Civil and Religious Liberty

Answer options :
(1) (a) only (2) (a) and (b) only
(3) (&) (b) and (c) only 4)  (a), (b) (o), (d)

7.  HEH %o dr=red 1A U A1 Fiviet T4 e g 2

(a) TEIH A® T (b) Sy sfvg FEEAR
(c) =HEA T (d) TS A® (g7

ot 3

1) (@) F= 2} (a), (b) =

(3)  (a), (b). (c) ¥ (4)  (a), (b), (c), (d)
Which books of Thomas Paine had influenced Mahatma Phule ?
(a) Rights of Man (b)  Tustice and Humanity
(c) Common Sense (d) Age of Reason

Answer options :
(1) (a) only () (a). (b) only
(3} (@), (b), (¢) only 4) (@), b)), (d)

oAl SHIHEIE IR /SPACE FOR ROUGH WORK

P.T.O.



wWO7 6 A
8. TUCIGUR! FIUIH T Hed 3ed ?

(a) FUEE HEyHTd Taehd wTeades=n Y= FI0M 6fed ane € gfes 2.

(b) HSaTeAlde THEHMIET fEaThd Heddi=n oM et 8.

(c) Te@ice FEmaET W Yvamer dt STou g wee B,

T I
(1) IR A 9 el (2) w8 I T AR
(3) T (a) W (b) G AR, (4) T (b) 3 (c) W AR

Which of the following statements are true ?

(a) Pandit Taranath was the first to propagate the Khilafat Movement in Hyderabad
state.

(b) The Khilafat Movement affected the Muslims in Marathwada.
{c) The Nizam of Hyderabad had issued prohibitory orders on holding meetings.

Answer options :

(1) No statement is true. (2)  All statements are true,
(3)  Only (a) and (b) are true. (4) Only (b) and (c) are true.
9. e THME T Hindra ? e Hlewder e sufor 1928 w4l sifsfas
(1} <9 fom (2) TRER @
(3) o, el (4) S gL F8IgT

the member of the Constituent Assembly belonged to the Munda tribe, went
to study at Oxford and became the captain of the Indian Hockey team that won the
Olympic Gold Medal in 1928.

(1) Jaipal Singh (2) Mabhavir Tyagi

(3) R.K. Chaudhari {(4) B. Pocker Bahadur
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10. TE® T faumr 4aE sersren SV TSHuSiEEe how H12d ?
(a) IS WAW FioH FI0 ST B
(b) TN WA WEH JITEATE EA el

gt I
(1) =€ oferer (2) IS R
(3) Trieu gee=y (4) ®EX

Who was the Governor of the Bombay Presidency about whom the following two
statements are made ?

(a) He was against the annexation of Satara.
(b) He introduced Municipal government in Satara.

Answer options :

(1} Lord Elphinstone (2) DBartle Frere
(3)  Phillip Wodehouse (4) Lord Reay
11. 39 1941 O _ it TS o T T Hdo.
(@) THTE.
() Fee fem
(c) TAS T
a3
(1) (a) BH (2) (a) 30 (b)
(3) (=) 3700 (c) F @ (@), ®)
In 1941, participated in the foundation of ‘Rashtra Seva Dal’.
(8) S.M. Joshi

{b)  Shirubhau Limaye

(c} N.G. Goray

Answer options :

(1) (a) only (2} (a) and (b) only
(3} (a) and (¢} only (4)  (a). (b}, (9)
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12. ifow T 12 =9 firgr 9fadd el Aeaq 22 A1 v Tearan W S9feed e 7

(1) fewwm 5= @) TR v

(3) FUEE - SN (4) <EVHER

Which important question was raised by Dr. Nelson Mandela in the 12t" Non-alignment
Surnmit ?

(1) Problem of Vietnam (2)  Problem of Kashmir

(3) Apartheid - Racial Discrimination (4) Terrorism

13. YEH T@a@a faAra qea1 Sromen fowkmomgd vum JEr e ?
(1) dHehrd (2) G (3) W= (4) OEE
From where did Vinoba Bhave get the first piece of land during the Bhoodan Movement ?

(1)  Venkatgiri (2) Pochampalli (3) Maaooru (4) Polavaram

14. 1921 B4 fefzoem 'dt <Hw ofm @1 TowE = A= dommmE oW Sl e, o
TEHE BEH H0 B ?
(1) THT 3 (2) Ry et (3) FREL oI (4)  H, SeHT

Who was the author of ‘Gandhi Versus Lenin’ (1921) which has a comparison of the
philosophies of both the leaders ?

(1) S.A. Dange (2) RS. Nimbkar (3) R.B. Lotwalla (4) KN. Joglekar

15. IEFHHS 1876 - 77 =N TEREA 14 o7 ASHURU Qi HaEifag Aedl, e gies 36!

TSGR IS HI0T] ?
(1) HIeH T (2) TOM £
(3) wehaEer g (4) TIU &I WA

During the famine of 1876 - 77 in the Deccan, 14 new lrrigation Projects were carried out.
Which one of them was the first large irrigation work ?

{I) Bhatghar Dam (2) Darna Dam
(3) Khadakwasla Dam (4) Pravara River Project

THeRT HTHIEES 9 /SPACE FOR ROUGH WORK
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16. Sl oo,

() WYTEF ()
(b) 3T AT (iiy T
() SO TR (iti) I
(d) =gET wEw (iv) HHaE
it I

@ G (© (d
1y (@) (i) (i) (@v)
(2) @ (@ @) @
() (v) @) @ @
(4) () @) @ @)
Match the following.
(a) Sattu Naik (ij Satara
(b) Umaji Naik (ii) Koregaon
{¢) Daulatrao Naik (i) Purandar
(d) Chatursingh Naik {iv) Sasvad

Answer options :

(@) (b} () (d)
1 @ @ @@ @)
2 W (@@ @) @
(3) (v) @) (@) ()
@) @) @ @ (v

17. ‘‘oo AE T, 3 T HEY 3w 99" € Aty v e g ?

(1) STl g (2) WERNEEF T

(3) e w (4) W T

Which institution had ‘Love of God, in the service of man’ as its motto ?
(1) Brahmo Samaj (2) Satyashodhak Samaj

(3) Prarthana Samaj (4) Arya Samaj
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18, AU YHNES HI0 FhR g, favg gvifaar ?
(1) 97 @l (2) FEETR
(3) S (4)  SRT wrEi
Which tvpe of Lavani is supposed to be indicating grief and separation ?
(1)  Vag Lavani (2) Baleghati
(3)  Chhakkad : (4) Junnary Lavani
19. TRARTS 994G 3fdEMER 9. awa § AT A JUERT T 3T SN
TETqTRT Ao Aedin T F o N Az sfeegem 9 famned an
(1) HI. T (2) THEZYT R
(3) aHed gB9d BEH (4) foamm Twmm
The famous histerian of Maharashtra, V.K. Rajwade was the student of the Poona Native
Institution which was started by _ with the help of Waman Prabhakar Bhave
and Laxmanrao Indapurkar.
(1}  M.G. Ranade (2) Ramchandrapant Kulkarni
(3) Vasudeo Balwant Phadke (4} Sitaram Gokak
20, T HEIE HIENE WH ATHEET [RIeusd! ol [FaH auew e ?

(a)  HiEemrE=n wdEET A SUS 8 WY YEard Ve Has qifgs 9w ar.
(b) g Tl usa vgd FEd Tush fae7m = o o 7 g

(c) TESE - IT - @S A JUIAA Al JEH FHdS w{ula Fa gl STHE FHAd
(d) 9 e Hehr=Ar Yad Jegd.

'C!'Cl'r'éﬁ?ﬁl:-" :

(1) (a) 27O (b) ekt (2)  (a), (b) 3T () e

(3)  (a), (b) 3 (d) = (4) (o) W0 (d) ®H

Which of the following statements related to Sir Savyed Ahmed khan are true ?

(a) He telt that the Muslims should take English and Western education for their
upliftment.

(b)  He was of the opinion that Muslim women should give up Parda svstem and take to
English education.

(c)  He protested against traditional conventions of the Muslims through the newspaper
Tahjeeb-ul-Akhlakh.

(d}  He was not in the service of the British Government.

Answer options :

(1) {a) and (b) only (2) (a), (b) and {c) only

(3)  (a), (b) and (d) only {4} (c) and (d) onlv

AT SIS T /SPACE FOR ROUGH WORK



A 11 woO7

21.  TESISUR! RVl S SR T WFOA HE g Aegd ?

(a) PO WS FHd (b} oo AR Soie
(c) V%I THER §Hm (d) g |

At 39T

(1) (b) 370 () w (2)  (b) A (d) F

(3)  (a) ST (d) o (4) () M (d) HH

Who from amongst the following were not hanged in the Jackson Murder incident ?
{a) Krishnaji Gopal Karve (b} Vinayak Narayan Deshpande

(c} Shankar Ramchandra Soman (d) Narayan Joshi

Answer options :

(1) {(b)and (c) only {2) (b) and (d) only

(3) (a) and (d) only (4) (c} and (d) only

22, GOUNUS THRT FEME TES Il S qeid aes ?

(a) AF A HRITR (b) THMS TR

(c) THHR HIBHT (d) goar SR

T I

(1) (a) A0 (b) T (2)  (b) T ()

(3)  (b), (o) MO (d) waa @) (@), (b) & () F

Who from amongst the following helped in the works of Satyashodhak Samaj ?
(a) Vyanku Baloji Kalevar () Rambhau Mansaramni

{¢) Ramchandra Kalbhor {(d})  Sultan Zohari

Answer options :
(1} (a) and (b} only (2) (b) and (c) only
(3} {(b), (c) and (d) only (4} (a), (b} and (¢) only

TheeT SRTATETS S /SPACE FOR ROUGH WORK
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23. WENE $HATE AMEAT IV JEIHTET Gea | R el # =Sl fRdwm gur A an 3t g ?

(1) T-T-TeuH (2) aA-u-fed
(3) aagE- TR (4) T-I-gEm
Which book of Mohammad Igbal begins with the song “Sare Zaha Se Aachha Hindusta
Hamara” ?
(1} Tarana-e-Gulshan (2) Tarana-e-Hindi
(3) Tabakt-e-Naseere (4) Dar-ul-lslam

24. 3.9, 1876 A4 it garga dfed TN gE &,
(1) TR g1 dEEa (2) STY WHEIS
(3) I 9TF el @ (4) Tl F&mm ==
In the year 1876, founded the first night school in Mumbai.
(1) Dadoba Pandurang Tarkhadkar (2) Jagannath Shankarseth
(3) Dr. Bhau Daji Lad (4} Bhikoba Laxman Chavan

25. U7 sfean A - Ao golo 1946 W= Seo it wigar fee
(a) OTEUN IEH A (b) A qZaHd
(c) WER WS (d) HFL IES
ardt I
(1) (a) 37 (c) Ft (2} (a) S (b) W
(3)  (b) S (c) T (4) () ST () Ho
The mutiny of the Royal Indian Navy in 1946 was supportedby __
(a) Aruna Asaf Alj (b) Achyut Patwardhan
(c) Sardar Patel (d) S.K. Patil
Answer options :
(1) (a) and (c) only (2) (a)and (b) only
(3) (b)and (c) only (4) (a) and (d) only

el RIETETS WP /SPACE FOR ROUGH WORK
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26. ST O
Uard T Y
(@) U ED, A () 1903
(b) e, geeit (i) 1908
() g, = (i) 1920
(d) Tue, f9a (iv) 1939
Tt 3T
@@ (b} (g (d)
1 O @ @ 3Gv)
2 v @ @ @
3 @ () @)
(4) vy () (@ ()
Match the following :
Earthquake Place Year
(2) Kangra Valley, India (iy 1903
(b) Mosina, Italy (i) 1908
(¢) Kansu, China (ui) 1920
(d) Chilan, Chile (iv) 1939
Answer options :
@ (b) (o} (d)
1) @ @ g (i)
2y () (1) (@ @)
@) Gy (v} () @)
@ ) O @ (i)
27. TR AWHRA 9@ YA g Eioeus! R aF feamvit & & ?

(1) TG - e (2) @sld - TFED

(3) TR - fouegm (4) TIE® - WEdarst

At which of the two centres has the Government of Maharashtra started Rice Research
Institutes ?

(1} Khopoli - Karjat (2) Karjat - Panvel

(3) Ratnagiri - Chiplun (4) Panvel - Sawantwadi

el TGS, I /SPACE FOR ROUGH WORK
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28, WISSUHT I TET IR U WHHO IO FIHAS 18 T2 M e ?

(1) s (2) & (3) =¥ (4) M
In which of the following cash crops infected soils cause Red Rot disease ?
(1}  Cotton (2) Tea (3) Sugarcane (4) Jute

29. I, Frart # werms faaroll 99 gamE f99rd w01 e, HERSIA SVl Foomdl THiad
‘T HEE A fayrTe o o1 ?

(a) famof (b) @Y (c) Rl (d) wEarE
FETUH] =H10idl/ FHIVG T2 FHEL 3 ?

(1} (a) ®H - (2 (o) HH

(3)  {b) S0 (d) "= (4) () SO (d) e

Dr. Triwartha has divided Maharashtra into three climate regions. Which region of
Maharashtra is included in the ‘Monsoon Savana Climate” ?

(a}  Vidharbha (b} Khandesh (¢) Konkan {d) Marathwada
Which of the alternative is/are correct ?

(1) () only (2) (c) only

(3) (b) and (d) only 4) (a)and (d) only

30. WS faum 9@
(a) TIEE Ta WHOR e Slfues a1,
(b) quit & MR TEE 39Tl el
(¢) wfedamert 3=t 1404 1. 3¢,
Tyt I
(1) wFR fGuH (a) T R,
(2) wEF faym (b) S 3.
(3) Ay (a) 0 (b) =R SR,
(4)  TEa (b) 3nftn (o) TR A
Observe the following statements :
(a}  Godavari river is to the South of Parbhani town.
(b} Purna is not a tributary of Godavart river.
(¢} The height of the Harishchandragad is 1404 m.
Answer options :
(1} Only statement (a) is correct
(2)  Only statement (b) is correct
(3) Statements {a} and (b) are correct

{4)  Statements (b) and (¢) are correct

=1 TS ST /SPACE FOR ROUGH WORK
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31. gl YIS qH Fd SEA WO Us] o A 9 gEian et S9e 316 7

(1) 3 fed® (2) 3 SHaErt (3) 3 Al (1) 3%H

During the earth’s revolution round the Sun, on which of the following days it is nearest
to the Sun ?

(1) 3" December (2) 3™ January (3) 3 February (4} 3™ March

32, YR SiUhgd IS Eeomr= NfCardt SAwi=r %9 .

(1) =, 9El 550, g3, R

(2) TIEl, S, 3E, G, TR

(3) TES, qEl, I, qe,

(4)  HeI, fFR, e, die, g5

Arrange the tribal communities of India as they are found from South to North.
(1) Korku, Toda, Eruli, Munda, Kinnar

(2) Toda, Korku, Eruli, Munda, Kinnar

(3)  Eruli, Toda, Korku, Munda, Kinnar

(4) Munda, Kinnar, Korku, Toda, Eruli

33. WRAY 1951 01 2001 AY ewfzAT WOl dEHEn 0 e Tk
BRI
(1) 7.23 o 8.29 (2)  6.23 91 8.20
(3)  7.20 #7fm 9.20 (4) 8.01 AT 8.40
The tribal population of India in 1951 and 2001 was and .
(1) 7.23 and 8.29 (2)  6.23 and 8.20
(3) 7.20 and 9.20 (4) 8.01 and 8.40

ol ShRIHMETS ST /SPACE FOR ROUGH WORK
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34, S O

| -1
()
(a) T
(b) Fom
(c) Fmue
() F=
gt 39y
@ (b) (o)
1) @) @ 0
@ @ @) G
@) () Gv) (i)
(4 G) G o
Match the following :
Column - 1
(Rivers)
(a) Penganga
(b) Krishna
{c) Tungabhadra
(d) Cauvery

Answer options :

(1)
(2)
(3)
(4)

(@) (b)
(iv) (i)
(i) (i)
(i) (iv)
(i) (i)

(c)
()
(1)
(ii)
(i)

d

e

(
(1)
(i)
(1)

(

iv)

16

- 11

( T )
(iy ~ THdH R
(if) €N Im
(iii) TR
(iv) HETHeIT,

Column - 11
(Sources)
(i)  Gomantak Peak
(i)  Buldhana Range
(iit) Brahmagiri

(iv) Mahabaleshwar

o RIHIATS T /SPACE FOR ROUGH WORK
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35. WO YEWl A $HH Aol
(1) Fryemey, gae, Tagd dm, g, e
(2)  y=w, SErEd HE, Ferrd, qoeE, sl
(3) wETg e, G, GEARH, e, deee
(4) =y, T, TErdt #e, QOEKH, SR

Identify the correct sequence of the following landscapes :
(1) Delta, Waterfall, Fan Plane, Pot hole, Flood Plane

)} Waterfall, Fan Plane, Pot hole, Flood Plane, Delta
(3) Fan Plane, Pot hole, Flood Plane, Delta, Waterfall

) Waterfall, Pot hole, Fan Plane, Flood Plane, Delta

36. WERISGIS TSI 50% Gohied! Yo¥T SEEH YSHaL Heedl. R0
(a) TS 90% FHA SHice WEHUR G 3T,
(b)y & i wieg =
(c) & =i wiog Fqear Wi JiHHa oA Ty ).
(d) S 919 IaR STEER o R AT,

tl'éﬁ'ﬁ? I

(1) (a) w (2} (o) "

(3) (@), (b)), (c) T 4) (a), (b}, (o), (d)

About 50 percent of the drought areas of Maharashtra are in the Deccan Plateau region
because :

{a) about 90 percent of the land in the state has basaltic rock.

(b)  this is 2 non-porous land.

{c} non-porous land prevents rain water from percolating into the soil.
{(d) high slope of land prevents percolation of water.

Answer options :

(1) (a) only (2) (¢ only

(3)  (a), (b, (c) only @ (@, b)), @

SheedT HIFTEE AT /SPACE FOR ROUGH WORK
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37. WO F6NId TeRES Hivdl WEHd fa9n sraae =18 ?

(1)  STHLEl (2) IR 3y 9 (4) AR

Which administrative division of Maharashtra is being shown in the following map ?

{1} Amravati (2) Nasik (3) Pune (4) Nagpur

38. A1 YWrites FRUMS Hlodl STofdgmd] afed Teie &3 3E0 3R :
(a) TEE= Y SANER H0) Svaranet s A faam e,
(b)  TIUETE WA WA ded e
(c) Y= =meTeN @ SAWEK ARVl Tu1 @ aifgy oA,
(d) T ST diET wehd A,

gt E?ﬁ‘ :

(1) (a) B (2) (b} B

(3)  (c) 3T (d) W (4)  (a) S (c) ek

Western Maharashtra is suitable for canal irrigation projects for the following geographical
reasons :

{(a) large number of dam sites are available on the eastern slopes of Sahyadri.
(b) demand for water is continuously increasing,.

{c) the rivers on the eastern slopes of the western ghats are east flowing.

{d) water is unable to reach farms.

Answer options :

(1) (a) only (2) (b)only

(3) {(c) and (d) only (4) (a) and (c) only
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39. WEOUH! RITRE B U WM IRATde e SAEAT Sadid e 96 shHis
BT ?

(a) SiEEEe - dfTg (b) S - I

(c) % - " (d) e - @

TaiEr 36T

(1) wH (o) (2) e (d) (3) ®H (a) (4) P (b)
Maharashtra is the leading producer in India in which two minerals out of the
following ?

(a) Bauxite - Manganese {b) Bauxite - Iron ore

(c}) Iron ore - Manganese (d) Manganese - Copper

Answer options :

(1) Only () () Oy (d) (3) Only (a) (4)  Only (b)

40. W fSeer=n A= mifes 9% WA Ialdl Y o6

(a) 3iTEE (by HIE (c) -ieE (d) THFER
i 39T
(1) {a), (). (&) (d) (2) (o) (a), (b), (d)
(3) (b}, (c), (a), (d) (4} (d), (), (o) (a)
Arrange the following districts in a descending order of their geographical area :
(a) Aurangabad (b} Beed {(¢) Nanded (d) Osmanabad
Answer opfions :
(1) (a), (c), {b). (d) (2) (o), (@) (), (d)
(3)  (b), (¢}, (a), (d) ) () (b), (), (a)
41. o FEYT JBTEd T A4S S HEER Feiae 16 ?
(a) T U (b) ST 9
(c) Sy faig (dy FaF gaA
gt I
(1) (a) &AM (c) ¥ (2} (a) 310 (b) T
(3)  (a), (b) 30 (c) W (4) (a), (b), (o), (d)
During Civil Disobedience Movement, who were executed from Solapur ?
(a) Malappa Dhanshetti (b) Shrikrishna Sarada
{c) Jagannath Shinde (d) Kurban Hussain
Answer options :
(1) (a) and (c) only (2) (a) and (b) only
(3) (a), (b} and (c) only (4)  (a), (), (), (d)

o] ShTATETEl ST /SPACE FOR ROUGH WORK
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42, UEI® TH fayumits! FI0 @a 318 ?

(a) el ool drgd Hod WAl 4 7 wiHd Wesi-t qegattd a3 ome .
(b) HeIIMHE L AEETIY TEAGUaE g TEA hoe dgd YRl HI0AH (facilitate) Hed

F.
ﬂﬁaﬁ:{‘:
(1) 98 (a) (2) HAB (b) (3) ==l (4) THREl R

Which of the following two statements is incorrect ?

(a) VAT has been introduced by all the states and the Unton Territories except New
Delhi.

(b) The Central Government only plays a role of a facilitator for successful
implementation of VAT,

Answer options :

(I) Only (a) (2) Only (b) (3) Both (4) Netther
43. ISl ST RHI 4l HHl Bl

(a) TorqEeamhgd geamhe (b) Yaehg fayEgaEe

(c) FHIarehed Tagagmese (d) wHFUHEEA FyagaEe

Taidt I

(1) P (a) (2) P (b)

(3) TR (c) S (d) (4) I (a) I (b)

The amount of water vapour present in the atmosphere decreases from :

(a)  Equator to Poles (b)  Poles to Equator

(c) Tropic of Cancer to Equator (d) Tropic of Capricorn to Equator

Answer options :

(1) Only (a) (2)  Only (b)

(3)  Only () and (d}) (4) Only (a) and (b)
44. TUFHHF Haid T3 Afaw FEEEIe 9idl AY gl

(1) 3w HfcaHiT qrEreEl 9=l sy (2)  AUHH T ST

(3) e Hledof sl (4) wEE IO

Single largest reserve of biological resources is found in

(1)  Tropical deciduous forests (2)  The Amazon Rain forests

(3) Temperate coniferous forests (4)  Monsoon forests

el TGS 90N /SPACE FOR ROUGH WORK
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45. SV ek TEay i diee TR HIS 31 ?
(1) sTEw (2) wEW (3) FIw=d (4) SwrEArE!
Where is the one and only underground power house of Asia located in Maharashtra ?
(1) Bhatghar (?2) Koyana (3) Yeldari (4) Jaitkwadi
46. S faum Wl

(a) WRAWY 22 TFF YaT WA B gfafgad v Hiedr,
(b) HTS € AT W HTE.

(c) T3 W IR FAlEHE S .

Tt 39

(1) v faum (a) TR ST,

(2) Taum (a) enf (b) SR 3TRA,

(3) faum (b) =f () SR 7R,

(4) F0o wd faum SO TR

Observe the following statements :

(@)  More than 22% people speak Dravidian languages in India.

(b) Santhali is a Austric language.

()  Tulu language is spoken in North Karnataka.
Answer options :

(1) Only statement (a) is correct

(2) Statements (a) and (b) are correct

{3) Statements (b) and (c) aré correct

(4)  All the above statements are correct

oAl HIAEE AT /SPACE FOR ROUGH WORK
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47. @ faur T
(a) AfRTEN il diHfledrg A0 i YA AT,
(b) AfTTER Freerd Bidl 220 T . e
(c) B Fiodl AAHTEE i aie T,
it I
(1) ™ fa¥m (a) S0 3T
(2) T fa¥H (b) S0 ST,
(3) oo HE faum FU=R e
(4) oRI® UHel g9 FaET e,
Observe the following statements :
(a) The Buckingham canal is in Tamil Nadu and Kerala stales,
(b)  The length of the Buckingham canal is 220 kins.
(c)  The canal was constructed by Buckingham engineer.
Answer options :
(1) Only statement {(a) is correct
(2)  Only statement (b) is correct
(3)  All the above statements are correct

{(4) Nore of the above statements 1s correct

heedl HITETS A /SPACE FOR ROUGH WORK




48. Sire@ @@
@Y -1
(9dd)
(1) o HR
(b)  {wefyraA
(c) TS THSl
(dy 9T 9Eq
Tt AL
(@ (b) (o)
1) (v) (@ ()
(2 @ @) (i)
@y G ) @
4y @ () ()

Match the following :

Column - 1
{Mountains)
(a) Black Forest
(b) Appalachians
(¢) Rajmahal Hills
(d) Popa Mountain

Answer options :

@@ 1) (9
1) (v) (@ (u)
(2) (i) (v} (iig)
@y i v @
) @ (@) @

(d)
()

(1if)
(iv)

(d)
(i}
()
(1ii)
(iv)

23

wY - 11
(UehTT)

() FdfEE wEd
(ily @A 93d

Gv) TSN R

Column - II

(Types)

i)  Residual Mountain

iif} Volcanic Mountain

{
(i}  Block Mountain
(
(

iv} Feld Mountain

WwWO7

el SRIATEE AT /SPACE FOR ROUGH WORK

P.T.0.



wO7 24 A

49. WOIGUh! HIMGS Yeai=ar AR IS T 9 A= WA ffv=a Fvgre meq e 7R 2
() SIERERT Al TSoied] T,
(b) ST @I AT

(c) Y= HAUTEIS AT 3751,

U"‘Zl'hﬁiﬁﬁl':
(1) 5 (a) (2) % (b)
(3) T (b) S () (4)  (a), (b) 3T (c)

Which of the following has helped us in determining the different layers of the interior of
the earth and their boundaries ?

(a) Study of volcanic material.

(b} Study of earthquake waves.

(c) Study of temperature in the interior.

Answer options :

(1) Only (a) (2) Only (b)

(3) Only (b} and (c) (4) (a), (b) and (c)

50. =MS FHu{guarE TR0 EFAA Hoe ey e ?
1) few (2) s ®) =3 () =
From which tree is Tannin used in the leather industry obtained ?

(1) Hirada (2) Behada {3}  Turmeric (4) Khair

oAl ShIATHIS A /SPACE FOR ROUGH WORK
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51. UG fadas € e fadas gusie W e d Qe aiqEl g9 oTEd
(a) FIVAR! FL SHRY, T FH0, HUW FIaul,
(b)y Hfaa T wemfad fafam o,
(c) TT AHRU UG 377 HATF e <o,
(d) WML HYe T foeasz @l W &g w9,

Tﬁﬂ'ﬂ’i‘ 3?:!' :
(1)  WF (a) 0T (2) (a) &M (b) TR
(3)  {a), (b) W (c) T @) (b), (©) 3| (d) TR

A bill is deemed to be a ‘Money Bill” if it has provisions dealing with :
(a) imposition, abolition, remission of any tax.

{b) appropriation of money from the consolidated fund.

(c) imposition of fines or other pecuniary penalties.

(d) payment of fees for the licences or fees for the service rendered.
Answer options :

{1} Only (a) is correct (2) {(a) and {b) are correct

(3) (a), (b) and (c) are correct (4) (b), (¢) and (d) are correct

52, HErd TEd AAMESHE Goe [y oed w2

(@) R VTN YAl S TOUaER! 1964 T8 &2 LN $Hald S8 ST
T FA,

(b) 2003 A HEE 2eAA1 ST A HSARHE F foit ST WEY Wi Je T,

() HETT Rl AN e SRR AGSd § ORI A 9 o Ga i TE A9 2aw
HAgad aed WA A SEA.

FhUE hIvd /ot faera/ faum #1 @y R/ 3 7ed 7

(1) % (a) (2) W (b)

(3)  ®H () () o

Consider the following statements regarding the Central Vigilance Commission :

(a) The Central Vigilance Commission, the agency for preventing corruption in the central
Government was established in 1964.

(b)  Until 2003 the CVC was netther a constitutional body nor a statutory body.

(c)  The CVC consists or a Comunissioner {(chair-person) and not more than three
Vigilance Commissioners.

Which of the above statements is/are incorrect ?

(1) Only (a) (2)  Only (b)

{3}  Only (c) {4)  All of the above

HEAT HHEE FRT /SPACE FOR ROUGH WORK
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53. WOGUH! Hioedl Sl Grd T Jeard ?

(a) =T 265 - FUTH AER fErrEds sl sUE sl fha s

(b) STT=G 266 - FERHseR fovem AfumEls REE! T e SR A,

() 3F=T 113 - HIOTAET sTE AT T e searE{s sl SR
.

(d) #1117 - FIVIHRE! A kWG FO TR G T H0T TG U uaeAr

ToiEt 391

1) @ B d @ O« E (3 (@) © (d) (4} (o) A0 ()

Which of the following pairs are correctly matched ?

(a) Article 265 - No tax shall be levied or collected except by authority of
law.

(b)  Article 266 - No expenditure can be incurred except with the authorisation
of the Legislature.

()  Article 113 - No demand for o grant shall be mnade except on the
recomunendation of the President.

(d) Article 117 - No recommendation of the President shall be required for

the reduction or abolition of anv tax.
Answer options :

1) @ EO@H @ 0@ @ @@ @ (badg

54, FHEST YrrEeHTd AFT Fean A ;

(a) WY 343 - HY e e qr

(b) 3T 345 - ToATE SRS AT A FAE 7

(c) ST 348 - gdlg =@, 3EE A 9 oTIE | ST
(d) HI=T 350 - wmEewa fafue s weoar fae s
g 3

1) @. ®)(© @ (®) () @) (3 @ (@) (4) (. (k). (d)

Identify the correctly matched pairs about official languages :

(a) Article 343 - Official language of the Union

(b)  Article 345 - Official language or languages of a state

(c)  Article 348 - Languages to be used in the Supreme Court and the High
Courts

(d) Article 350 - Special procedure for enactment of certain laws relating to
language

Answer options :

(1) @), (b)) (2)  (b). (e} (d) (G} (@) () (d) (4) (@), (b), (d)

o7 HIATATS AT /SPACE FOR ROUGH WORK
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55. ‘UM foawm wiEd’ | weieush! Sk faum sle IE ?

(1) =1 qigame] fHeA 12 3fu 24 4an ST 989d1@ 3% 95w SIHaTa.

(2) TH JAEE YR FH AGAS 30h HE WMAGHAEAA GERHY THAS,

(3) U fediy o il TS g wigen gewn ST,

(4) o BETHHE SR WEEA g1 F9@ THYFEdd F6 Jond.

Which one of the following statements about ‘Gram Vikas Samiti’ is not correct ?

(1}  This committee shall consists of minimum 12 and not more than 24 members.

(2)  Not less than one-third members shall be from the members of the Gram Panchayat.

(3) Not less than one-halt members shall be from women.

(4)  The member of this committee shall be removed by Gramn Panchayat ordy.

56. WIGAUHT RV TTETHR Haled A HAeR feoean dmmre fofam aya Feden
T Ty (qAfd@dd) Foaran AR geH FIEW A 3R 2
(1) T2 130 (2)  HI=T 137 (3) HI=T 138 (4) A= 139

Under which one of the following Articles, the Supreme Court has been given the power
to review any judgement pronounced or order made by it previously ?

(1}  Article 130 (2)  Article 137 {3) Article 138 (4) Article 139

57. HOVH AfUsREEd EE@s wIOd fqur sHeT et ?
(1) @ ey AR T I[oTHE R
(2) o e 3R, (Justiciable)
(3) ST=T 19 T UL amuianvire Flerd Fraf €, s 6t Aiofiai Fmred] S
T FH0A™ AT THS g,
(4) SIS 21 T UK SMEIv=Al Fleetde] SHr=11 T8 H18 Tl
Which of the following statements related to the Fundamental Rights is not correct ?
(1) They are not absolute but qualitied.
(2) They are justiciable.

(3) Article 19 is suspended during National emergency irrespective of the grounds on
which emergency is in force.

(4) Article 21 is intact even during National emergencies.

HEAT FHATES AEN /SPACE FOR ROUGH WORK
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WSETE FI0G faum st A& ?

(1) Toar= TS SHedla=al SR AUa Tava=] Agd@ieard s=e 356 Tel
Tegadl st el g Y,

(2)  UTHl TEE SRvATSAT HoEm dERen S AurTgiat T Higren g v fuaid
aifest,

(3)  FEwAT G FEEgEl T fomme TeTd reae ga afe-arda = TR,

(4)  TEEEmEE faum A fowers maEe o fear A @ weEren g Fees HvRpETen

Which of the tollowing statements is not correct ?

I
o

(1)  The President’s Rule can be proclaimed under Article 356 either on the report of the
Governor of the state or even without the Governor’s report.

(2) A proclamation imposing President’s Rule must be approved by both the Houses of
Parliament within one month.

(3) If approved by both the Houses of Parliament the President’s Rule continues for six
months.

(1) Whether the State Government has lost the confidence of the legislative assembly or
not should be decided on the floor of the House only.

59, TS YT Ygdrd TETeUst G SN FHES ST 2

(a)  Afeer v
(b) HEHSIE EFHE
(C) .

(d) iR I

(e} I fasmaTan f9es

bt T
1) (@), (), @ @) (@) (@), @)
@) (@) b)) (@ (@) (4) (@ b), @), (@

Which of the following are considered as demerits of the Parliamentary system of
Government ?

{a) Unstable Government

(b)  Dictatorship of the Cabinet

(¢)  Despotism

{d) Covernment by amateurs

(¢)  Against separation of powers

Answer options : 4

(1) (a), b, (o) (2) (), (d). (e)

() (@) (b), (& () (e) (4) (@), (b) (), ()

R SRTHTETS] ST /SPACE FOR ROUGH WORK
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60. WA IHHAAD EH@Uh! FIV diqal Tred] agad 86 hidl 2ard 7

(1) WaeREs=E = (2) AT -l ST g

(3) U= gifve () =o 9

Which of the following provisions in the Indian Constitution can be amended by simple
majority 7

(1) Delimitation of Conshituencies  (2) Citizenship acquisition and termination

(3} Fifth schedule (4)  All of the above

61. TE@IHI S TAWH GER G S48 Tegd ?

(1) =R HEe (2) TRRS T

(3) . ggHIE (4) FRTE Wi

Who from amongst the following did not head the administrative reforms commission ?
(1) Veerappa Moily (2)  Morarji Desai

(3) K. Hanumanthaaiah (4) RS Sarkaria

62. WA guis [ ¢
(1) Y& T=EeT=a %o 19 (1) (a) 999 o0 TR
(2)  TEEST= ®@H 19 (1) (a) FFd =T Sfv=afa Wa=ren g6iqs gfed 2.
(3) TSTHST=AT o 361 (A) HHIS TAel 74 ¢l ST ol 3R

(4)  INAS HEATA A=A (Rule of Law) 3HSRA o 2.
Freedom of the Press in India :
(1) s specially provided in Article 19 (1) (a) of the Censtitution.

(2}  is implied in the wider freedom of expression guaranteed by Article 19 (1) (a) of the
Constitution.

(3) is guaranteed under the Preovisions of Article 361 {A) of the Censtitution.

(4) emanates from the operation of the Rule of Law in the Country.

HeAT HAMIG S /SPACE FOR ROUGH WORK
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63. WA GaUMAIS FHIoEr/FIvR fa9m (part) a=1siia e Hefig s ?

() TEA HFER

(b) T F

(c) T=aT=AT YR ey T

it T

() @¥FME (2 K (D) (3) ®)emfiE (@) FHow

Which of the portions of the Indian Constitution are related to the protection of Wildlife ?
(a) Fundamental Rights

(b) Fundamental Duties

(c)  Directive principles of State Policy

Answer options :

(1) (a) and (c) (2) only (b) (3) (b) and (c) (4) all the above

64, I ETSAEET WOGIH HIV faum StET @7
(a) VO TS TR, S el ATAHERS e smoarar sifEshR ST,
(b) e =aed o, ST Hd fofa R Qe = " .
a3y
(1) &9 (a) (2) 9 (b) (3) A 4) T
Which one of the following statements about High Court is not correct ?
(a) Court of records means, it has the power to punish for its contempt.
(b) Court of records means, all the decisions have evidentiary value.

Answer options :

(1} Only (a) (2) Only (b) (3) Both (4) Neither

e HIVTETer AR /SPACE FOR ROUGH WORK
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65. WEMRWIGEH TaLt Weioyus! UM faum aier 3T ?

(4)

TERUITGh=H Tt Ve ar a6 3Ta R,
TR Wit Aesl B aRqF (Transport) HAGEN T5fHG He8 STEA.
AT HeTdrt & Tt wfidren vgfirg ens o7,

Which one of the following statements about Municipal Corporation is correct ?

L)
(2)
(3)

The Standing Committee of Municipal Corporation shall consists of twelve members.
A retiring member of Standing Committee shall not be eligible for re-appointment.

The Chairman of the Standing Committee shall be an ex-officio member of the
Transport Commuittee.

{4) Mayor of the Municipal Corporation is an ex-officio Chairman of the Standing
Committee.
66. Hal= TEed qeY (Ad hoc) =raHY =uE L B1g Yehdl.
(1) = FEGH== Toedr TEIdgR
(2) RSN g ATl e TR si
(3) TETdr=N & A TRAT= g AR

(4)

FEE FEASHAN FeoHHEd Feamal YA 7 ~ATarHengEN

Ad hoc judges can be appointed in the Supreme Court

by the President on the advice of the Union Law Minister
by the President on the advice of the Chief Justice of India
by the Chief Justice of India with the prior consent of the President

by the Chief Justice of India after consultation with the Union Law Minister

Tl HIHTEIST AN /SPACE FOR ROUGH WORK
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WIAHBYE] HIUN T UiHdl FoFh ST 37087 29 Iehal ?

(1)
(2)
(3)
(4)

ga= I FIVAE] FaHH AT

el Haie AATGATE T =479l

egdl= Hd faedrd faeiy s
Thed Hared “ARI@AEl Ot J@ A

Who from amongst the following can be the Chairman of the National Human Rights
Commission ?

{1} Any serving judge of the Supreme Court.

(2} Only a retired Justice of the Supreme Court.

(3} A person who is a distinguished jurist in the opinicn of President.

(4}  Only a retired Chief Justice of the Supreme Court.

68. WHBUH! hIvG faum e 3T 7

(a) VRO TLIHISEE] heed STEg THREH 7% 378d1. ATHHgH (naturalisation)
AT W FHOe fad] 9T A4,

(b} STHREHHH ARG Fded STHHG ANNHH TF 35, AMRIMGN TFHE 9T
HOS FAHT U THA,

(c) Sfegr ekl kil Wda Arifehren @M sid d= o ST T A e

qIigr 3

1) (a) (2} (b)

3 (© () FUeUd! uhel AR

Which of the following statements is incorrect ?

(@) In India, only a citizen by birth and not a naturalised citizen is eligible for the office
of President.

(b) In USA, enly a citizen by birth and not a naturalised citizen is eligible for the office
of President.

{c) When a person renounces his Indian citizenship every minor child of that person
also loses Indian citizenship.

Answer options :

1) (&) 2 o

3) (© (4) None of the above
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69. wWieo faur fa=rm = .
(a) U. STpAerE HITE AMHT GEH E TFEA] S SR 38 9.
(b) IFEdl WY WeoAld Haled Aed B2 &l SR ITHeT= THRe & fegdr oo
TR T TR W AR,
(c) uETe TG TeeA il e eal 99 Weedd Saoe e ara sEears
(d} 1976 =1 42 =1 FAGER AYIHGI TETAE - GHISens], iy snfn stEem m wH
IEETA FHET FI0E AT

ot HIOY faur/faun atew s/ ?
(1) ™ (a) (2) (@), (b) & ()
(3) HH(d) (4 (a), (b), (c) 30 (d)

Consider the following statements : )
(a) Pt Thakurdas Bhargava recognised the Preamble as the ‘Soul of the Constitution’.

{b) Inthe Berubari Union Case the Supreme Court held that Preamble shows the general
purpose of the Constitution and is thus a part of Constitution.

(c) In the Keshavananda Bharati case the Supreme Court reaffirmed the decision taken
in the Berubari Union Case.

(d) 42" Amendment Act 1976 added three words Socialist, Sovereign and Integrity to
the Preamble.

Which of the above statements is/are correct ?
(1) Only (a) (2)  (a), (b} and (¢)
(3)  Only (d) (4)  (a) (b), (c) and (d)

70. WRHBIH! HUE Ty st T ?
(1) g fasmfusr i g gtast e Aynera WEmE fysrIHg T el oI,
(2) HES= Yo YR 15 veeail fasrafasr wfud s
(3) I wibdr=l i (Hu-araied [ EeuEl .
4) I siR = 58 gurpgen sifim o e swe 78 o afader e 7o
fereere srerdl anfn ufirdT=an RTerelt gafwms Shereear S,

Which one of the following statements is not correct ?

(1) The Committee of privileges of Parliament is constituted usually every year by the
Presiding officers of the respective houses.

(2)  Each House of the Parliament has a Committee of privileges of 15 members.
(3) The functions of this committee are of a semi-judicial nature.

(4) Although its findings are subject to the ultimate decision of the house, it enjoys the
latters confidence and its recommendations are seldom rejected.

THEAT hHTETHIST ST /SPACE FOR ROUGH WORK
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71. SHHYY BYUT YRR Gfged hid Hae FHt &E Seharg 7
(1) i $231 Fet T
(2) ey fearn gear 3ufeer oo ST8a
(3) SR T A =T wee JHe ®
(4) <= I TErEed gefaraEsl 2ud famm s @
The Speaker of Lok Sabha can vote at the first instance _
(1) On his own discretion
(2)  The issue is of National interest
(3)  If his party has issued such a whip
(4  When a resolution of lus/her removal is under consideration
72. '@AddEeT’ 8 MR RAE TWHET= WHeas] Foedl FOAmS] gHias 31 7
(1) wFed 112 (2)  FeH 110
(3) HOH 265 (4) SSYH TFL AR
The word “Budget’ is mentioned in which of the following articles of the Constitution of
India ?
(1)  Article 112 (2)  Article 110
(3) Article 265 (4) None of the above
73. WIOOYH! HI g9 SET A 7

(a) TegTel AT IR 2 e TS fowa FeaE U Eih s 39 .

(b) IREA WUTTE M0 STHYTYG! SIS TS (e e UFhShihe &g ¥Ran.

() Hei=m@EEE! (Attorney General) 310 Hifefg IR syel Tsm@Hl {odid @=edd
(d) TEHIE FEga S0 I § AT TS [T e TR 3 e,
i 34y

(1) () 3T (b) () (@), ) (©) (3) (), (@A) () o F

Which of the following statements are correct ?

(a) The President and Vice-President may resign by writing to each other.

(b)  Speaker and ‘Deputy Speaker of Lok Sabha may resign bv writing 1o each other.

(c) The Attorney General and Solicitor General may resign by writing to each other.

(d) Chairman and Deputy Chairman of Rajva Sabha mav resign by writing to each
other.

Answer options :

(1) (a) and (b} (2) (@.(rand (¢} (3) (a), (¢) and (d) (4) all the above
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74. WO 9y faarm =i
(a) BTG WA N Hheudl STHHT UsTHEh A Udol 3R,
(b) ' ehrEET HEE T E osdl fAEie Hhed! AR,
(¢) ‘FHUYES THA & Heheu ' hEA ARG A Gehoudd Tk T7E AR,
(d) ‘prETE SRR i SrEed fdemd’ ¥ TerEeTe qen diddd ()
W@ Hedh 3R M0 o[ & HeNgh&iigl SEle T2 il 4d A
TSI I faum de g ?

1) @, {)© (2)  (b). (0), (d) (3)  (a) ST (b) (4) () =T (d)
Consider the following statements :

(a) The concept of “equality before law” has been taken from American Constitution.
(b) The concept of ‘equal protection of law” is of British origin.

(c)  The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law’.
(

d) The ‘Rule of Law’ and ‘Judicial Review’ are the eleinents of basic structure of the
Constitution and hence, they cannot be destroyed even by an amendment.

Which of the above statements are true ?

(1) (@), ) () (2) (b}, (), (d) (3)  (a) and (b) (4) () and (d)

75. WSOYh! RV TS YR AR hde AT TREET §29 U /
(a)  TRIruEE
(b) ¥ Tad AWM 926
(¢) T BIHUAT AT W
(d) U e $oTe
it 39l
(L) (@), (b), () (2)  (a). (b), (d) 3} (&) (0), (d) (4} (a), (b), (0), (d)

Who from amongst the following Governor appointees can be removed only by the
Governor ?

(a) Advocate General

(b} Members of State Finance Commission

(¢}  Members of State Public Service Commission
{d}  Vice-Chancellors of State University

Answer options :

1) (a) () () (2 (a) (b} (D) (3) (b}, (o), (d) (4) (@), (b), (). (d)
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76.

36

T I Jreered 8 Wl 3.

(a) dF T TANITE FET=A] ATaTeR enfid 3Te.

() e 9 == Fide mufas Wesdte faeneat=t Tedl ai=e9 7 9= 3 e,
it I -

(1) K (a) (2) WK (b) B @IAG TR 4) AR
What is true regarding Mid-Day Meal (MDM) scheme ?

(a) Itis based on the experience of success in Kerala.

(b) Itaims at improving retention rates in primary schools from Std. I to Std. V.

Answer options :
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither

77,

T (108 St uwon) fasass S 2008 79 AW a11es «ardl Yeies sfemes) Al -
(a) OrFEV AT T T S ARE F:0.
(b) Taren favTdeem Afswhitd 30% ST TR S

it 39T ;
1)  (a) 07 (b) T FUR 311ed (2) (a) =701 (b) SRt gF oTRT
(3) (a) FEd ST 3R (4)  (b) T FUTL AR

The Constitution (108" Amendment) bill was introduced in 2008 seeking :

(a) One third reservation for women in the house of people.

(b)  Thirty per cent reservation for women in the legislative assemblies of states.
Answer Options :

(1) (a) and (b) both are correct (2) (a) and (b) both are incorrect

(3) (a) only is correct (4) (b} only is correct
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78. €7 2014 =0 74 fIwM sEAEHER
(a) T W EIR A fad Fdwis geo 2 gaifas o,
(b)  Rardl e fas Frawis 4l dieishden awE o,
KR
(1) {a) AT (b) TR ek 2EA
() (a) 0 (b) =G AU IR
(3)  (a) FWR T (b) B IR faum .
(4) (2) g T (b} FUR faum AR,
According to the Human Development Report of 2014 :
(a) The HDI value of Norway is the highest among all.
(b) India’s HDI rarnk is above Srilanka’s rank.
Answer Options :
(1} (a) and (b) both are incorrect.
{2) (a) and (b} both are correct.

(3} (a) is correct while (b) is incorrect statement.

(4) (a) is incorrect while (b) is correct statement.

79. WERTE WHS fadlg sTeaTe 2002 YHIU EIe 2 faymidst SivE 4 R ?
(a) Hag 9 gag IR foeeaal S0 Wald STnTel 31,
(b) TTeFUE fAce wEld GOt 3 Siel T A FHiwER 2T,

Whﬂ' T
(1) HAS (a) (2) hERE (b)
() (a)F(b) T (4) TR

As per Maharashtra Human Development Report 2002 which of the following two
staterments is correct 7

(@) Thane ranks the highest after Mumbai and Mumbai Suburban Districts.

{b) Jalna is the second from below with Gadchiroli district occupying the lowermost
posilion.

Answer options :
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
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80, 1 2014 WY TR AY Heird SoREHEl @I HE R _ ¢ formdis g
FLGE .
(1)  waffren (2) TS
(3 Tafee (4} 3FeA

In the year 2014 the following university has been established at Rajgir as an international
institution of academic excellence.

{1} Takshashila (2} Nalanda
{3} Mithila (#)  Avodhya

81, 1991 =1 =1 TeifiTeh YRUTER Wi Hiom 3hm wovid; geEsie SarEE! uEe Sae

318 ?
(1) e wheh (2) VEATEA I G
(3) Targaermd FfHdt (1) Ul IRl e

As per New Industrial Policy -1991, which of the following industries is exclusively reserved
for the public sector of India ?

(1} Industrial Explosives {2} Arms and Ammunition

(3}  Electric Power Generation (4} None of the above

82. 1991 =1 ITHH YURM T FHeaHdl MRTP e S Feimite! S0 S Saet
(1) faferaor anfon g91e9 * @ - 2007
(2) Hafzem &% - 2002

(3) TriaaE wmEEr - 199
(4) WS Afo @I e S TER - 2001

After adoption of economic reforms of 1991, the MRTP Act was replaced by which one of
the following Acts ?

{1} Mergers and Acquisitions Act - 2007
(2} Competition Act - 2002

{3) Disinvestment Act - 1996

{(4) Public - Private Partnership Act - 2001
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83. TG 2F T9yIFiU® S O a8 ?

woO7

(a) FTAEEA AR e WIfEG 2T aTacel Y W B, 1894 HE T o

(b) wET HST HF - AN dF AE edrd a9 § fod 9@ o shear wum

qarer 397 :
(1) F9= (a) (2) FHaAB (b) (3) a4 (4) THI TE

Which of the following two statements is correct ?

(a)  The first bank of limited liability managed bv Indians was Punjab National Bank

established in 1894,

{(b)  The largest bank - Imperial Bank of India was nationalised and renamed as the

Reserve Bank of india.
Answer options :

(1)  Only (a} {2) Only (b} {3) Both (4) Neither

84. TigEd, wmﬁ%ﬁmmwmwmwam

(a) 1 ge fCoR drierie a1 woa souya e 1 9rd Fel 3R,
(b) SEIeZ TSHTEN ST TSA A1 Jodl (A 2.

(c) I ST UM Y& JHUATE &A1 ST STEed B 3 guie ATe,
(d) T ICA B8, grEd, e, sfegiatem, Famm e
SUBIR! FE [aUr atET a7Rd ?

(1) (a) 3W (d) B2 (2)  (b) 3TV (¢} Tad

(3} (a), (b} oW (d) T @) (), ®), (© 3@ (d)

Godavari, Bhima, Krishna and Tapi river basins have best black cotlon soil because it :

{a) contains titaniferous magnetite, which gives it the black colour.
(b) is formed due to weathering of basalt rock.

(c) is very fertile due to its moisture content.

(d) has Iron, Lime, Potash, Aluminium, Calcium in it,

Which of the above statements are correct ?

(1) (a) and (d) only (2) (b) and (c) only

{3) (a), (b) and (d) only (4) (a), (b), {c) and (d)

85. U@ T faumitesT v iR o178 ?

(a) S9! FEFHT TR FHIET 318 T UHIY &6 &S (a1 aifod e
(by  HIG FeHl FEHEHG S sleiol B 3IUAIT Ud AMTS 9gaid arei= Yol T8 e Hoad

I & g A,
T S )
(1) FI2 (a) (2)  FTD (b) @y & (4) UHE T

Which of the following two statements is correct ?

(a) The Twenty Point Programime includes afforestation but does not include supply of

energy to rural areas component.

{(b) Out of the total items covered under the Twentv Point Programme the most are

monitored monthly and the remaining are monitored annually.
Answer options :

(1) Only (a) (2)  Only (b) (3) Both (4) Neither
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86.

40 A
&1 Ui s ferrraren whrda ' ® faam s,
(a) Wi dwa, jaauE b, sufn T @ ¥ s e i veard e A
(b) it Wt & onfie fomrard! T@ W S
() wiEdeeIRl st famm d.
(d) TFvErEn A R snfdE fag i 48 miEe A,

i o faur e o ?
(1) () T @) (@) 9 (b) ®
@) (@) (b) T (0 T @ (@, () 7 (@)

The following thoughts are explained in the Karl Marx’s Theory of “Economic Development
Process”.

(a) Capital accumulation, Investment decision and rate of profit are the important factors
in the “Economic Development Process”.

(b}  Technical progress is the main inspiration of Economic Development,
(c)  Economic Development happens in capitalistic economy.
(d) Increase in the Rate of profit is the main parameter of Economic Development.

Which of the above statements are correct ?

87.

(1)  (a) only (2) (a) and (b) only
(3) {a), (b) and (c) only @) (a). (b) and (1) only
e faumE =R wu

() A T faan 0 qAfe ot () A e Jemmii/ saernain fod quaan nfo;
TqHErd 0 g 329 IR,

(b) € WA teifie fare e (s =R vimg wudt e

tm"ﬁaﬂb(:

(1) (a) Tad &G R (2) (b) ®F TUF AR

(3)  (a) MM (b) Sr&t T 3T (1) (a) 3nfor(by BT 9% aRd
Consider the following statements :

{a) The Micro Units Development and Refinance Agency (MUDRA) Bank aims at
extending finance and credit support to sinall businesses.

(b) Itis a subsidiary of Industrial Development Bank of India (IDBI).
Answer Options :

{1) (a) only is correct (2) (M) only is correct

(3) both (a) and (b) are correct (4) both (a) and (b) are incorrect
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88. AR BTl faum W HRZd ?
(@) LA Fed fadm™ Af@E (NSDM) € 2015 T4 TF H0ad 310,
(b) M UL w9 fahie dear (NSDC) S Sl 3,

g 39T
(1) (o) B (2)  (b) ®H
(3)  (a) 3T (b) SRR (@) (a) 3O (b) TR

Which of the following statements are correct ?

(a) National Skill Development Mission {NSDM)} was launched in 2015.
(b) It has replaced the National Skill Development Corporation (NSDC).
Answer Options :

() (@) only () () only

(3) (a) and (b} both (4) Neither {a) nor (b)

89. ‘WIhEEH HshHy fagr’ § S il
(a) ST ATHE T TEd WHeS FAUT IR AT,
(b) OIFHEI HFHU Td TS I ST FHHT T,
(c) Do viHd HOiF @ SrET Scure T S arga,
(d) EREEH I 25 auiHl g .

ittt T G a7
(1) (2) 3 (o) v () (3) 3 (c) B
(3) (), (b) 3 () () o o

The theory of Demographic Transition explains :
(a) Increase in population increases food-grain production.
(b)  Transition in population, so food-grain production decreases.

(c) Population increases in geometric progression and food-grain production increases
in arithmetic progression.

(d) Population doubles every 25 years.

Which of the above statements are correct ?

(1) (a) and (b) only (2)  (a) and (c) only
(3) (a), (b) and (c) (4)  All of the above
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90. WISSTH] HITAT ATHI hg THR [EFG 34 ?

(a) Y I Ry Ay

(b)  SEA GLE I

(c) T ARG FEFT

(d) F&A Feam dEFEy

g TEtg fHaet
(1) (a) (2)  (a) > (b) T
(3) (a), (b) AW (c) T (4) (), (o) 00 (d) wad

Which of the following schemes are sponsored by the Central Government ?
{a) National Rural Health Mission (NRHM)

(b)  Janani Surksha Yojana (JSY)

(c)  Schocl Health Programme (SHP)

(d) Family Welfare Programme (FWD)

Choose the correct option :

(1) (a) only (2) (a) and (b) only

(3) (), (b} and () only (4)  (a), (b) and (d) only

91. 1991 =1 TWHIHS FTASH FIhIsiaia ‘T T 4 womEt fAaio e g ?
(1) el et sy 7 idwEm oo
(2)  FTOTURY FIG (TR TG ST,
(3) HIETUA JEIT FHISE LA IS,
(4) AR Fefee GOt heanes FEm Aeed SisR = FREE S50 wEiE).

Under structural adjustment programme of 1991, what for was the ‘National Renewal
Fund’ established ?

(1) To modernise and redevelop industrial units.
(2)  For skill development among workers.
(3)  To provide enhanced social security to workers.

(4) To tackle unemployment problem arising out of opening up of Indian economy.
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92. Iy SrewW @El
9 2009-10 7L fafay vsai SR T9197 378 B9

(1)
(2)
(3)
{

4)

=

O @ )
@ @) (@)
™ 6 @

Match the pairs :

In the year 2009-10 Stalewise Unemployment figures were as follows :

States
Gujarat
Punjab
Tamil Nadu
Maharashtra
(a) (b) (o
i @ @)
i @

@ ) (@)
) () (@)

43

RTINS WHIOT(%)
i) 65%
(i) 5.0%
(i) 11.7%
(iv) 6.3%

(d)

(iv)

(iv)

M

(ii)

Percentage of Unemployment
)y 6.5%
(i) 5.0%
(i) 11.7%
(iv) 6.3%
(d)
(i)
(i)
0)

(i

WwO7
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93.  TUTYHA GRS T YEh=d A1 G I HiAl 3R W "
(a) 9 foran otfEm - wg uaT,
(b) T T SR Y - T, R U,
(c) Semdl N Te JETT FAFRH - AR E IS

ﬂ'ﬂfﬁ?ﬂi‘:
(1) (&) @ (b) F= (2)  (b) 3 (¢} B
(3} () M (¢) WA () =ewd

The major programines of the Government of India which recerved the Furopean Union
(EU) grants are :

{a) Sarva Shiksha Abhiyan - 55A

(b) National Rural Health Mission - NRHM

() Reproductive and Child Health Programme - RCH
Answer Options :

(1) (a) and (b} only (2)  (b) and (c} only
(3} (a) and {(c) only (1) All of the above

94. TF 2015 42 ferdwht TaemF HRR W= qOEy & -

(a) deErhig IO fiHdidie e TH 100% .
(b) ot LT TAEERTE THM 49% FEA 74% ho,

(c) el 9dA &=Ardies AavER« WHIT 49% H.

Tt 39T

(1)  (a) ®H (2} (a) 3000 (b) e
(3) (a) 3T (c) TFad (4) =g 1y

The FDI policy of 2015 comprises :

(a) 100% FDI in manufacturing of medical devices.

(b} Increase in FDI in insurance from 49% to 71%.

{c)  FDI limuit in pension sector fixed at 49%.

Answer Options :

(1) (a) only (2)  (a) and (b) only
(3) (a) and (c) unly (4) Al of the above
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95. 13 o fam awmEm=T ferRreh an e -

(a) H=TST TEHW TeHSTIh! TR S 33.3% Hegd Ui 20,

(b) wiefE fryuren <ol GUREGEE UsFHT 30,000 FE e Afus voai eEE 2.

ST HuE faum et amed ?
(1} (a) oA (2) (b) ®
(3) (a) & (b) = (4) TR TR

Recommendations of ‘13" Finance Comumission’ are as follows :
(a) To give a maximum of 33.3% revenue to the states from the Central Government.

(b} To give finance of more than ¥ 30,000 crores to the states for improving quality of
Primary Education.

Which of the above statements are correct ?
(1) (a) only () (B only
(3) Both (a) and (b} (4) Neither

96. TG Ay fo=m 4
(a) ‘we@ € 9 Afee § 9 foRm THGArESS T9 2010 BY GE #1090 3
(b) 3TN N0 ST FURUA 11 d 21 98 saTdio Joid Garie &0 g =1 36w 3.
Tt 3

(1) (a) T TUET AR (2)  (b) wE AL TR
(3)  (a) @ (b) AR T TR (4)  (a) T (b) 2L g FRH

Consider the following statements :

(a) "SABLA’ scheme was launched by the Ministrv of Women and Child Development
in the year 2010.

(b) The schene aims at empowering adolescent girls in the age group of 11 to 21 years
by improving nutritional and health status.

Answer Options :
(1) (a) only is correct (2)  (b) only is correct
(3) (a) and (b) both are correct (4) (a) and (b) both are incorrect
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97. T Fivid T Ay 31 7
() ﬁ@waﬁﬁﬁzmsnamﬁﬁaﬁm“m”g@ﬁaﬂ%

(b) % T saus =

ot 3T
() D () (2) F@ (b)
(3)  (a) T (b) T4 (4) TE AR

Which one of the following statements is correct ?

(a) DD News has launched its News Magazine “Vartaavalt” in June 2015.
(b) ltts a Hindi news magazine.

Answer options :

(1) Only (a) (2)  Only (b)

(3) Both (a) and (b} (4) Neither

98. WGB! FIMAT HALAIS! 1998 TH WG Sfeh™T SFTHE Yemon Geaed e ?
(1) S Eeaion (2) HEET fan

(3) T, e, (4) wE e

Under the Chairmanship of which of the following persons, banking sector reforms of
1998 were introduced in India ?

(1) Ishar Ahluwalia (2}  Manmohan Singh

(3) M. Narsimham (4) S Chakravorty
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99, S TF faumit=t wive @Y 37 ?

(a) VTS Hed IgEre T e T qenan i 28 g dasfg A,
(b) WA @ AR R WS A% Seimie faswaret g S F S e | 91

Terawo=n s 1.
gt I ;
(1) T (a) (2} I (b) (3) (4) TFE AR

Which of the following two statements is correct ?

(a) Planning in India derives its objectives from the Preamble rather than from the
Directive Principles of State Policy.

(b)  For the first eight plans the emphasis was on growing public sector now the thinking
is planning should be of an indicative nature.

Answer options :
(1} Only (a) (2) Only (b} (3) Both (4) Neither

100. ‘FEr < JUH YEd ARG 9 TARY Fvar Nel. Weieds! Hoh 9 9 q6iE
e A ?
(1) HENE (2) dHeg
(3) USRUA (4) Yy

Green revolution was first introduced in 7 states of India. Which of the following was
not included in the list ?

(1) Maharashtra (2) Tamil Nadu
{3) Rajasthan (4) Andhra Pradesh
-obo-
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=1 — (Y= 1 961 U8 )
®) wHyfmdes fafen Foem fafre wnla #+ =10 (T F6) w9, Fygiarneaiaiad Smubenat a1

T HEEE Fed WY Fedrd J HU OIS FIN o A, 3H A RS d AHER IHGAUEt
I SR e O g TRYSNE hiey seaeradd SAfuten-82 " are ROETE SRS

ETAL G

Y& A <7 S T TE o9l Fididi=g R 98 T gAR (Ehen ser faEy

T Eger.

(9) TR AR S fafin e e Hucardl IHSANE g TR S aat TReTRanaiel
A O AN AR, A O SRaTaet SIUaTyEl IHEa 3Medl IaiAR e W 1
THARTRS T TaTdr WA 0T Mavaes 3,

W& 200

4% 201

AT U9
Had! =16 T FaEE] S0 §@d: T390 #0 ?
(1) T e gt Q) ivaEs fagars
(3) T THHRA W @) IR TS
B WenE A S (3) T gHHIER T HE R @me 11 e T U3y ¥e, I
GEEYATS AT . 201 9HI® FwaiE Q)" T ade Pl srife s e
TAvTE AR

ONON NO

HI TEAH o WAYRaehal® Foddh Tl qUEl SAGREIE B qRTe Wil [ase
JrtfRale ™ T WA HHRIHRNT dal4q ade qua swifes w69 Sl geRiar
TR WIETT SRS siens ST, Ufas o7 snee U9 9 A,
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